CSE 142 Sample Midterm Exam #4

1. Expressions
For each expression in the left-hand column, irtdi¢ta value in the right-hand column.
Be sure to list a constant of appropriate typecapitalization.
e.g.,7 for ani nt, 7. 0 for adoubl e, "hel | 0" foraString, true orfal se for abool ean.

Expression Value

5*2* 4- 3* 3

29/ 4/ 2.0+ 18/ 5 + 1.5

30 % (4 + 3) + 16 % 20

1(23 + 2 * 2 <= 27) && 5 %2 ==

1+1+"(8-2)" +(8-2) +1+1
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2. Parameter Mystery
At the bottom of the page, write the output produiog the following program, as it would appear loa tonsole.
(Though the program uses words related to aritlunigte output does not necessarily follow the rofegddition.)

public class Parameter Mystery {
public static void main(String[] args) {

}

i nt one 4;

nt two 3;

nt three = 10;
nt num= 17;
nt four = 3;

racket (one, two, three);
racket (three, four, 5);
racket (2, two * 2, nunj;

racket (num three * one, four);
racket (three - four, one, two);

public static void racket(int two,

}

Systemout.println(three + " is roughly "

i nt one,

int three) {
+ two + "

plus "

+ one);
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3.

If/Else Simulation

For each call below to the following method, wtte output that is produced, as it would appeaherconsole:

public static void mystery(int n) {
Systemout.print(n + " ");

if (n>10) {
n=n/l 2

} else if (n < 10) {
n=n=2;

}
if (n %2 ==1) {

n++;
} else {
n--;
}
System out. println(n);
}
Method Call Output
nystery(4);

nmyst ery(30);

nystery(-6);

nmystery(18);

nystery(15);
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4. While Loop Simulation
For each call below to the following method, wtie output that is produced, as it would appeaherconsole:

public static void mystery(int x, int y) {
int s = 0;

while (x >0 && 2 * vy >= x) {

Systemout.print(s + " ");
y =y - X
X--;
s = s + X;
}
Systemout. println(s);
}
Method Call Output

nystery(-2, -6);

nystery(2, 3);

nystery(4, 8);

nystery(5, 40);

nystery(10, 31);
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5. Assertions
For each of the five points labeled by commenesniidly each of the assertions in the table belowiter being
always true,never true, orsometimes true / sometimes false.

public static int nystery(int a) {
int b 0;
int c 0;

/1 Point A

while (a !'= 0) {
/] Point B
c = a %10;

if (c %2 == 0) {
b++;

} else {
b = 0;

/1 Point C

}

a=a/ 10;
// Point D

}

/1 Point E
return b;

Fill in each box of the table below with one of folowing words: ALWAYS, NEVER or SOMETIMES.
(You may abbreviate these choices as A, N, and S.)

al=0 C %2 == b >0

Point A

Point B

Point C

Point D

Point E
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6. Programming
Write a static method namegd aduat i on that takes a student's GPA, total credit courd,lmnors credit count as

parameters, and returnstr i ng representing that student's graduation statug. tdtial credit count already includes
the honors credits. The graduation status tometudetermined by the following rules:

e Students must have completed at least 180 credhsaviGPA of at least 2.0 to graduate. A studemb woes not
meet both of these constraints should receiveusrrelue of not graduati ng”.

» Students who do have enough credits to graduatsufidiently high GPAs will receive one of fourtuen
values depending on the GPA and number of honediter

o0 All students with GPAs between 2.0 and 3.6 recaiveturn value ofgr aduat i ng" .

o0 Students with fewer than 15 honors credits recaixeturn of' cum | aude" if their GPA is at least 3.6 but
less than 3.8, and a return"afagna cum | aude" if their GPA is at least 3.8.

0 Students with 15 or more honors credits receiva@m of' magna cum | aude" if their GPA is at least
3.6 but less than 3.8, and a returti ®firma cum | aude” if their GPA is at least 3.8.
Here are some example calls to the method andrgsilting return values:

Call Value Returned
graduation(3.87, 178, 16) "not graduating"

graduation(1.5, 199, 30) "not graduating"
graduation(2.7, 380, 50) "graduating”
graduation(3.6, 180, 14) "cum | aude"
graduation(3.62, 200, 20) "magna cum | aude”
graduation(3.93, 185, 0) "magna cum | aude”

"summa cum | aude”

graduation(3.85, 190, 15)

You may assume that the GPA will be between 0d34a@ and that both credit counts will be non-niegantegers.
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7. Programming
Write a static method namedieer | eader that accepts two integer parametenss andcheers and prints a series of
"cheer" lines at increasing levels of indentatidine first parameter represents the number of lxfiegitput to print,
and the second represents the number of "cheardhpe For example, the call oheer | eader (2, 4) means that
you should print 2 lines of output, each contairdrigheers." A "cheer" is an occurrence of thedv@o" in the
output. Neighboring cheers are separated by tid Wieam", so 1 cheer is printed as "Go", 2 chasrdso Team
Go", 3 cheers are printed as "Go Team Go Team &ul' so on.

The lines you print should be displayed at incrag$évels of indentation. The first line displaystbuld have no
indentation, but each following line should be imted by 3 spaces more than the one before itthkr evords, the
2" line of output should be indented by 3 spaces3the by 6 spaces, and so on.

You may assume that both parameters passed ydhodwill have values of at least 1.
The following calls demonstrate your method's b&ravyYour method should match this output formedctly:

Call ‘ cheerl eader (2, 1); | cheer| eader (4, 3); | cheerl eader (2, 4);
Output | & Go Team Go Team Go Go Team Go Team Go Team Go
Go Go Team Go Team Go Go Team Go Team Go Team Go

Go Team Go Team Go
Go Team Go Team Go
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8. Programming

Write a static method namedndonRect s that calculates and displays the area of rand@®aherated rectangles.
The width and height of each rectangle should domly generated integer between 1 and 10 indusour
method should keep generating random rectanglédsannncreasing sequence of four areas is printacbther
words, if the last four rectangles generated hagasaofal, a2, a3 andad such thatl < a2 < a3 < a4, the method
should print the final message and stop. So yathad will generate at least 4 total rectanglegossibly many
more, stopping only when it sees 4 in a row witgarin increasing order.

The following calls demonstrate your method's béravyYour method should match this output formeactly:

Call randonRect s() ; randonRect s() ;

Output (W 5, h: 6, area: 30 w. 5, h: 2, area: 10
w. 10, h: 5, area: 50 w. 6, h: 5, area: 30
w 2, h: 8 area: 16 w. 7, h: 6, area: 42
w. 4, h: 4, area: 16 w. 8, h: 10, area: 80
w. 2, h: 9, area: 18 Four rectangl es of increasing area.
w. 8, h: 3, area: 24
w 7, h: 2, area: 14
w 3, h: 10, area: 30
w. 7, h: 9, area: 63
w. 9, h: 8, area: 72
Four rectangl es of increasing area.
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